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Based on the sample data and the regression line, answer the following:
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Based on the sample data and the regression line, answer the following:

1.Filln the blank For thess data, fernae Ife expectancies that are greater
than the mean ofthe female fs expectancies tend to be paired with birthrates
thatare the mean of the birtrates.

Choose ane

2Fillin the blank: According to the regression equation, for an increase of one
(birth per 1000 people) in birthrate, there is  corresponding 0f0.50
years In fernale life expectancy.

Choose ane

3. From the regression equation, what is the predicted fernale Iife expectancy
(inyears) when the birthrate is 15.2 births per 1000 people? (Round your
answerta atleast ane decimal place.)

4 What was the obsrved fermale Ife expectancy (in years) when the birthrate
was 15.2 births per 1000 people?
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